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03 HAH2ZHI 5,000 5,000 0
ORLHY f3s, s & HA2IZ 5,000
301 et a3 20,000 20,000 0
10 HAIAHIE &3 5,000 5,000 0
OR2LIHY SAIEA AMHI24 5,000
12 JIEt2 4= 15,000 15,000 0
OZLIHY OrelXl 24 15,000
FOXX 2 43 N& 60,000 0 60,000
403 KX SHHIS AH=0[ & 60,000 0 60,000
01 AXIEHA2 2L 60,000 0 60,000
O&FA 283 FUXNINE ESAE X
2l 24 60,000
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L2l Ha3 222g 780,000 310,000 470,000
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2X0d 08y = 12,960
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= 15,771
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OfIdz 2d+ S 4,500
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= 8,000
01 =2 LHA bl 8,000 7,000 1,000
Og=Toiald MatZAF =& 04 8,000
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02 QA AR X 40,000 0 40,000
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OXIS2IH (A2l - NGO) LA WS 20,000
03 AFEIHHI 2 X2 1,201,000 1,001,000 200,000
OAMBSHHEES X 1,201,000
04 QI2IHALB X 85,000 0 85,000
OM32s U=sY M2 70,000
OHl2AalI2s o3 HEsze 203 15,000
05 QI2+2IE 3 140,000 0 140,000
OSH=S NCOME 9IE 29| 120,000
OZ XY= NGOME SHOIX 7= 20,000
308 XX SISOl H 289,000 289,000 0
01 X SHHIAEES 289,000 289,000 0
OMOISXIE X Xt a3 289,000
402 QI2HX 20l & 30,000 0 30,000
01 U= EX 30,000 0 30,000
OSH=SZNEUERE I P 30,000
403 Xt X SHH S X201 & 95,000 150,000 A55,000
01 AHXISHX 2= 95,000 150,000 A55,000
OBSE XsUl =4 45 2 3A 95,000
405 Xt4HE S| 25,395 0 25,395
01 AL S F S| 25,395 0 25,395
ONGOMIEl A&yl ¥ &Il 2 25,395
OIS5EESANRL 2Y 14,000 14,000 0
403 XX SHH S 20/ & 14,000 14,000 0
02 BII2SOIHEH NS AL b 14,000 14,000 0
O0IS5E ESARA N 14,000
NeESAMEE HE 813,874 787,068 26,806
2 315,230
= 498,644
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OXNSSAMAH SE K SAA
Al - 3) 65,858
= 65,858
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= 172,460
308 AtXIHMSOIA 172,460 172,087 373
= 172,460
01 HXHHBLEEXS 172,460 172,087 373
oA 2= 172,460
= 172,460
gy dRFA 2,800 2,800 0
201 L2 2,800 2,800 0
01 AtR 22l 2,800 2,800 0
OO0k2t EQRUAY 22E S| 2,800
S&E 22 1,366,193 0 1,366, 193
SEHH2e 1,366,193 0 1,366,193
AN 1,366,193 0 1,366,193
308 AHXIEHMSOI A 1,366, 193 0 1,366, 193
08 JIEtRE= 1,366,193 0 1,366, 193
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o= 39,5003 #2492 «6H 59,013
o8z 59,013,000& / 12& *400% 19,671
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